Physics 196 Chapter 32 Problem 71

The emf = 14.0 V, Ry = 2.80 kohms, and R, = 5.00 kohms. The switch is closed for t < 0, and steady-state conditions are
established. The switch is now thrown open at t = 0. (a) Find the initial voltage emf, across L just after t = 0. Which end of the
coil is at the higher potential: a or b? (b) Make freehand graphs of the currents in Ry and in R, as a function of time. Show
values before and after t = 0. (c) How long after t = 0 does the current in R, have the value 2.00 mA? (30 points)
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a. The power source is disconnected. Initially the
current is CW through the inductor.

b. Because the current is changing (decreasing)
the coil reacts by inducing a forward emf (CW).
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direction. The current in the left loop changes
direction.

d. Pointb is at a higher potential because the coil
is trying to keep the current from falling to zero.
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